ME xR No.1

BRIRA & g B | BUHE|EEHRE " &
IRF-LzAf [HPPE(EFZOMKAZEE) L=5.00m b75 V.3 69 345.0m# 5% (5%0m)
EREMEZT " ¢ 50 ¥ 1 3.0m7 5% (5%2.0m)
HPPE(E®) L=5.00m $ 100 y:N 2 7.3m#E%(5%2.7m)
" ®75 ¥ 6 27.0m# E%(5%3.0m)
HiVP  L=4.00m $ 100 x 1 2.1m7E%(5%1.9m)
" ® 50 x 1 2.2m7 E%(5%1.8m)
" 30 ¥ 3 10.3m#E&%(5%1.7m)
EFRUK (M52) b 75 % 45° & 6
" $50%x22° 1/2 | & 1
EFF—X (fi%2) $100x 100 | 1 1
" ®75% P50 1@ 1
EFV/rvk ®$ 100 & 1
AZ2LTa1—Y— $100% 75 & 1
AHEHEGRVER) ¢ 100 x 45° 1@ 2
AHEEE REER) ¢ 100 X 45° & 1
" ¢ 50 X 45° 1@ 2
ERERANEHEPXV) ¢ 100 x 45° 1& 1
AHBISUUEE RUER) $ 100 & 1
TIUOHMFM $ 100 & 1
vsSTaq ok $ 100 1@ 1
" ¢ 50 & 1
HRILE R KEE GRUER) ®75% ¢ 30 & 1
SKXZ kK RY vk BEER) ®30 & 1 RF&LLE
HivV4 vk ®30 & 2
HINUKR ¢ 30 x 45° & 1
AHEE GRUYER) ®75 & 1 PICEESE )
BRI —bk W=150S m 396.9 345.0+3.0+7.3+27.0+2.1+2.2+10.3




MK

IRAR A & g ==K i =
HYFHRBEL [—HEBYIF—ILHEUHKRYER) $ 100 £ 1
¢ 100 o= H=600 #H 1
HFUFHREL |—HREYI—ILETHGERVER) @75 H 3
®75 o= H=600 #H 3
HUFHET |FRANLTSH ®50 H 1
®50 HFhlCHVryr(BEER) ®50 & 1
BRUAAVTIRGRYER) A2a7 4t 50 1@ 1
o= H=600 #H 1
HARRERET Ak @75 H 1 RS E
WIEFHF H=100 b75 1@ 1
AHBFFERTFEGRUER) ®75% P75 1@ 1
IS TBFH 675 & 2
HRREE H=600 #H 1
KB HRILE R KEE GRUER) $100% ¢ 20 1@ 1
" ®75% ¢20 1@ 3
HAHHF 20 & 4
Hiv 4k ¢ 20 1@ 4
HiTJLAR ¢ 20 & 8
HiVP  L=4.00m 20 PN 1 4.0m#TER(1.0m X 444)
BR—b W=150S m 2.0 0.5 x 444




)

FIHE

No.1
RARB E2E g B Z9%E | £EHE 5 &
JRF-LzO#
EREMBT |RUTFLUERET ¢ 100 m 7.3
" @75 m 372.0
" ¢ 50 m 3.0
E-—ILEMRT 100 m 2.1
" @50 m 2.2
" ® 30 m 10.3
RUTFLUOERFIT (REES) | 0100 10#F | O 1
" $100 20#F | &FT 2
" $75 1O#MF | O 69
" ¢75 20#F | &P 7
" $50 1O#MF [ O 1
" ¢50 20#+F | &FF 1
RUIFLUELIET ¢ 100 H 9
" 75 A 7
" ®50 A 2
ANZALBFEITGGRIER) ¢ 100 H 6
" b5 m| 1 AhEte

AN HIVBFIGEEER) ¢ 100 A 5
" ®50 A 6
IJSUUMFT 100 A 1
YRR KRFREI RUER) b75% $30 | EFT 1
MENOFEERLAAES ®30 a 1
RUIFLUEHRFT ®30 | 1
TS#FT ®30 A 6
EHRI—k m 396.9

WKEER T HKERE B 0.20 396.9m/2,000H=0.20H




)

FIHE

No.2
RARB E2E g B Z9%E | £EHE 5 &

HUHHRET |HEUIHFFRET 100 B 1
¢ 100 ANZALBFEITGGRIYER) ¢ 100 i 2
RERET H=600 #e 1

BEXE ® 1

HUHHRET |HEUIHFFRET 75 £ 3
75 ANZAILBFIGRIER) 75 = 6
REHRET H=600 #e 3

BEXE ® 3

HUHHRET |HEUIHFFRET ®50 £ 1
® 50 HENOFERCAAES $50 A 2
RYUIFLUEHRFT $50 A 2

RERET H=600 #8 1

BEXE ® 1

HAKRERET [HARHRETL 75 =S 1
AN=HIBFITGRIYER) 75 A 2

TOUUMFET 75 m| 1

REHRET H=600 #e 1

HERE & 1

HAKUIET YRILDKRBREIGRUYER) $100% ¢20 & 1
" d75% @20 & 3

E-—ILERmEZT ®20 m 40
MENOFEERLAAES ®20 a 4

TSHFFET ® 20 | 24

BRSO —k W=150S m 2.0




T I % E %
No.1
£ %fr\ BoO® #H B 4 = RETHME
RT-WZzA#g
EREMETL Mt 4 T H=600 Es:ﬁﬁd) 060 m X 0740 m 3875 = 172.05 m3
H=600 Lvaled) 060 m X 0775 m 9.4 = 437 m3
Hit CERAIFRS) 15842 m3 160
= H=200 060 m X 020 m 150.0 = 1800 m3 20
g E T Eﬁg%\yj’ &:ﬁﬁ@ 060 m X 0290 m 3875 = 67.43 m3
REEFYT Lvaled) 060 m 0325 m 9.4 = 183 m3
=11 69.26 m3 70
BB EL T HET &:ﬁﬁ@ 060 m X 0200 m 387.5 = 4650 m3
E it igvaled) 060 m X 0200 m 94 = 113 m3
&t 4763 m3 50
BT = 12708 m3 130
TRERET t=15cm RC-40 060 m X 3969 m = 238.14 m2 238
LERAET t=12cm M-30 060 m X 3969 m = 238.14 m2 238
RAsEHZET t=3cm FHFT 060 m X 3969 m = 238.14 m2 238
ARIEIHAsTHET (AAETL]  t=5cm R 080 m X 3969 m = 31752 m2 318
AsEiZE hiR U] 7 T t=5cm 3969 m X 4 % = 1587.60 m 1590
AsEHEE R BERE T t=5cm 080 m X 3969 m = 31752 m2 318
R AsEZE hiR B T t=3cm 060 m X 3969 m = 238.14 m2 238
AsTHE L IER - 05 T = 2302 m3 23




T T #% E %
No.2
£ 7 b3 H B 4 = RETHME
HBKEMERI (HEKETL H=600 060 m X 0676 m 20 m = 081 m3 0.8
HWIERLT REFYS 060 m X 0226 m 20 m = 027 m3 0.3
HWERLT H=600 060 m X 0200 m 20 m = 024 m3 0.2
RIAET = 054 m3 0.5
TERET t=15cm RC-40 060 m X 20 m = 120 m2 1
TrERET t=12cm M-30 060 m X 20 m = 120 m2 1
RAsEHZET t=3cm FEAL 060 m X 20 m = 120 m2 1
AEIBAsSHET t=5cm BRI 080 m X 20 m = 160 m2 2
AsERZEhR U1 T t=4cm 200 m X 4 % = 800 m 8
AsEHEERRBER: T t=5cm 080 m X 20 m = 160 m2 2
R AsERZE IR ER I T t=3cm 060 m X 20 m = 120 m2 1
AsTHEESER - L n T = 0.12 m3 0.1




¢ 100 HPPE 3# #

WwoE ) Bk Bedids - T - L2 O
UEE (m) . DI+ NT)
& WM WR|OERE B ) B (m) SIT T W=
Fi-1 Z-1 ) ) Z—4 } OO ()
1
EHE
HPPE
Z o -
-1 2.2 2.3 24 25 ] BE= 100
1 HPPE 100 5. 000 1. 000 1. 000 2. 000 0. 500 0. 500 5. 000 4
2 HPPE 100 5. 000 2. 300 2. 300 2.700 1 HhE | 5.000
B 10. 000 3.300 1. 000 2. 000 0. 500 0. 500 7.300 2.700 5
10. 000 3.300 1. 000 2. 000 0. 500 0. 500 7.300 2.700 5




¢75 HPPE 3 #& & b & &£ BiRA R F - s D
PEE (m) DIHANT]
, % I T "
B omm R |0 ERE " RE (m) 2 =
4 @J =] ;+
=]
-1 Z-1 -2 -3 Z-4 O-©® ([)
HPPE 75 5. 000 4.000 1. 000 5. 000 1 1
B
HPPE 75 5. 000 3. 500 1. 500 5. 000 1 HPPE
Z g " -
5]
z-1 ) Z-3 Z—4 Z-5 BR= 75

HPPE 75 5. 000 5. 000 5. 000
HPPE 75 5. 000 2.800 1. 200 4. 000 1. 000 2 HohE| 5000
HPPE 75 5. 000 5. 000 5. 000
HPPE 75 5. 000 5. 000 5. 000
HPPE 75 5. 000 3. 400 1. 600 5. 000 1
HPPE 75 5. 000 1. 500 1. 500 3.000 2.000 2

i 40. 000 30. 200 6. 800 37. 000 3.000 7

40. 000 30. 200 6. 800 37. 000 3.000 7




R4 BT - Iz Ak

¢50 HPPE fd K & b & &
UEE (m) DIHFNT]
. e - 4 (m) i T
=} paran paran
5O M 'O ERE z u . i &
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1 HPPE 50 5. 000 1. 500 1. 500 3. 000 2. 000 2 1
(=g
HPPE
0 g oE
%
z-1 z-2 Z.-3 Z.—4 Z.-5 R = 50
BH#hE| 5.000
i 5. 000 1.500 1.500 3. 000 2. 000 2
5. 000 1. 500 1. 500 3. 000 2. 000 2




R4 BT - Iz Ak

¢ 100 HiVP # #&% & W & F
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 100 4. 000 1. 400 0. 700 2.100 1. 900 1
(=g
HiVP
BT = 100
HEE|  4.000
i 4. 000 1. 400 0. 700 2.100 1. 900
4. 000 1. 400 0. 700 2.100 1. 900




R4 BT - Iz Ak

$50 HiVP fd K & b B F
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 1. 000 0. 700 0. 500 2. 200 1. 800 1
(=g
HiVP
B = 50
HEE|  4.000
i 4. 000 1. 000 0. 700 0. 500 2. 200 1. 800
4. 000 1. 000 0. 700 0. 500 2. 200 1. 800




$30 HiVP FE K & Bk B BT - Lz N
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 30 4. 000 2. 300 2. 300 1.700 1
(=g
HiVP 30 4. 000 4. 000 4. 000 HiVP
HiVP 30 4. 000 4. 000 4. 000
B = 30
HEE|  4.000
i 12. 000 10. 300 10. 300 1.700
12. 000 10. 300 10. 300 1.700




